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QUESTION 1

Given the data from table t1:

o ——— H————————
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»* — *

This DELETE command is executed: DELETE FROM t1 ORDER BY b.a DESC LIMIT 2; Which set of rows will be
deleted by the command?

A.(7.1) and (1,4)
B. (2,8) and (1,4)
C. (7,1) and (10,8)
D. (2,8) and (10,8)

Correct Answer: B

QUESTION 2

In MYSQL 5.6 you have the table t1:

CREATE TABLE t1 (

id int unsigned NOT NULL PRIMARY key) ENGINE = InnoDB;
There are two connections to the server. They execute in this order:

Connection 1> SET TRANSACTION ISOLATION LEVEL REPEATABLE READ; Connection 1> START

TRANSACTION;

Connection 1> SELECT * FROM t1 WHERE id =1,

Connection 2> TRUNCATE TABLE t1;

What happens to the TRUNCATE TABLE command in connection 27?

A. It immediately proceeds and causes an implicit commit of the transaction in connectionl.

B. It runs concurrently with the transaction in connection 1 as each connection has its own view of the data in the t1
table.

C. It blocks waiting for a metadata lock until the transaction in connection 1 ends.

D. It blocks waiting for a table lock until the transaction in connection 1 ends.
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Correct Answer: A

QUESTION 3

You have access to a MySQL 5.6 database with the SELECT ,INSERT, and DELETE privileges on all
tables in the mydb database.

The mydb database.

The mydb t1 table has five rows of data.

You use the statement below to remove all rows in the t1 table:
Mysql> TRUNCATE TABLE mysql.t1;

What is the result?

A. The command succeeds and o rows are affected.

B. The command succeeds and five rows are affected.

C. The command fails owing to syntax error.

D. The command fails owing to permissions error.

Correct Answer: A

QUESTION 4

Which statement describes the process of normalizing databases?

A. All text is trimmed to fit into the appropriate fields. Capitalization and spelling errors are corrected.

B. Redundant tables are combined into one larger table to simplify the schema design.

C. Numeric values are checked against upper and lower accepted bounds. All text is purged of illegal characters.
D. Columns that contain repeating data values are split into separate tables to reduce item duplication.

E. Indexes are created to improve query performance. The data of types of columns are adjusted to use the smallest
allocation.

Correct Answer: D

QUESTION 5

The contents of the parent and child tables are:
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The child table has the parent_id column that has a foreign key constraint to the id column of the parent
table with ON DELETE CASCADE clause.

Consider the command WHERE id =1;

What is the effect of the above command?

A. It does not delete anything from any table but returns an error.

B. It deletes one row from the parent table but does not affect the child table.

C. It deletes one row from the parent table and two rows from the child table.

D. It deletes one row from the parent table and sets the parent _id column to NULL in the child.

Correct Answer: A
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